SOLVE THESE

[image: image1.png]s wel
%/ //ML// WM%





                40-1

[image: image2.png]/E
E/t/ Ww// .




               40-2

[image: image3.png]



               40-3

[image: image4.png]P P P
/%/// 74/%7 (/ /%





               40-4

[image: image5.png]



               40-5

[image: image6.png]L ///ﬁ
t/ ////

A
N





               40-6

POSITIONS

[image: image7.png]t
//
L
/Wm
N

N /%%
// /y





               40-7

[image: image8.png]o
o

e o
BWLEAN B

i

N
EOE W E
M





                40-8

[image: image9.png]O
N 0 0
/ /mm._ //

/z/ -
W &
wE e





               40-9

[image: image10.png]NN /
Kl el el

LEL

M@

/t/// &
L)





               40-10

[image: image11.png]\ \ \
B -

um
N B
W e

‘- /g/
/1/&/ .





               40-11

[image: image12.png]%/

MA

wr

///
Aﬂ_





                40-12

ALL WHITE TO MOVE

[image: image13.png]e

S

e

Mol e

\





                40-13

[image: image14.png]3

g
%

7 /%

&3

A%
7
.

A
74

.
7

N DN
\

0
g |

\4 %%

%
7/7/

e

Y

0

%% -
_

//
/9





                40-14

[image: image15.png]D
W
sl 1
BEE W

W
%/ %% &
walH

“ e





                40-15

[image: image16.png]< A\ %/ %/
%/ %/




                40-16

[image: image17.png]X 7 0
r /Z%QAM/

& w Tt
LN

%/%

M%// WiEm
B B EXEY





                40-17

[image: image18.png]W/“B/// M@% /

b /@///2
5 M
men W e
B mem





                40-18

PAGE 40

[image: image19.png]..
x/;/v
/1Aﬁ/é//

L

@///ﬁ
"« e
Hem m m

I e





                 40-19

[image: image20.png]%/

\

A\
%%





                40-20

[image: image21.png]S T
B
; /i/v/

C e
Moo
m
W





                40-21

[image: image22.png]t/// w3
/ua/t ,/ﬁ/





                40-22

[image: image23.png]



                40-23

[image: image24.png]Rt
/.I

//z//
ﬁ/%/ »





               40-24
